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50%
=
a half of
(( by 2)

25%
=
a quarter of
(( by 4)

10%
=
a tenth of
(( by 10)

e.g. Find 65% of £150




50%


£75.00

£150


25%


£37.50





10%


£15.00

So 65% = 50% + 25% - 10% = 75.00 + 37.50 – 15.00 = £97.50

Exercise

By first working out 50%, 25% and 10% of each amount below, calculate:

1)a) 35% and b) 60% of £180

2)a) 75% and b) 40% of £320

3)a) 20% and b) 45% of £60

4)a) 15% and b) 85% of £90

e.g.

10% of £45.00 is £4.50 (the decimal point has moved left 1 place!)

5)a) 75% and b) 20% of £65

6)a) 60% and 35% of £88

7)a) 5% and b) 55% of £28

8)a) 90% and 95% of £46

e.g.

1% of £45.00 is £0.45 (the decimal point has moved left 2 places!)

9a) 26% and b) 61% of £48

10)a) 74% and 36% of £16
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